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QUESTION 1
Refer to the FortiGuard connection debug output.

FortiGate # diagnos

ccale : english

Service : Web-Filter
Status : Enable
Licen : Contract

Anycast =
Default servers : N i ded
i (Tue Feb 1 12:00:25 2020) -

Weight

10

o m ™

1D

10

(=]

Based on the output shown in the exhibit, which two statements are correct? (Choose two.)
A. A local FortiManager is one of the servers FortiGate communicates with.

B. One server was contacted to retrieve the contract information.

C. There is at least one server that lost packets consecutively.

D. FortiGate is using default FortiGuard communication settings.

Correct Answer: BD

QUESTION 2

Refer to the exhibit.
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Name = Type < IP/Netmask = VLANID =

e port1 B Physical Interface  10.200.1.1/255.255.255.0

¢ @ portl-vianl0 @ VLAN 10.1.10.1/255.255.255.0 10

* @ portl-vianl @ VLAN 10.200.5.1/255.255.2550 1

M port10 Physical Interface 10.0.11.1/255.255.255.0

= M port2 Physical Interface  10.200.2.1/255.255.255.0

* @ port2-vianl0 @ VLAN 10.0.10.1/255.255.255.0 10

* & port2-vlanl @ VLAN 10.0.5.1/255.255.255.0 1

Given the interfaces shown in the exhibit. which two statements are true? (Choose two.)
A. Traffic between port2 and port2-vlanl is allowed by default.

B. portl-vlan10 and port2-vlan10 are part of the same broadcast domain.

C. portl is a native VLAN.

D. portl-vlan and port2-vlanl can be assigned in the same VDOM or to different VDOMSs.

Correct Answer: CD

QUESTION 3

In an explicit proxy setup, where is the authentication method and database configured?
A. Proxy Policy

B. Authentication Rule

C. Firewall Policy

D. Authentication scheme

Correct Answer: D

QUESTION 4

Refer to the exhibit.
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Which contains a session list output. Based on the information shown in the exhibit, which statement is true?
A. Destination NAT is disabled in the firewall policy.

B. One-to-one NAT IP pool is used in the firewall policy.

C. Overload NAT IP pool is used in the firewall policy.

D. Port block allocation IP pool is used in the firewall policy.

Correct Answer: B

QUESTION 5

Refer to the exhibit.

10:59:34), state/o/chg_time=2(work)/2

_failure=0, pingsvr

0/0, link failure=0, pingsvr failure=0, flag=

The exhibit displays the output of the CLI command: diagnose sys ha dump-by vcluster. Which two statements are true?
(Choose two.)

A. FortiGate SN FGVYM010000065036 HA uptime has been reset.
B. FortiGate devices are not in sync because one device is down.
C. FortiGate SN FGVYM010000064692 is the primary because of higher HA uptime.
D. FortiGate SN FGVYM010000064692 has the higher HA priority.

Correct Answer: AC
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